SHADING REGIONS

Complete on graph paper.

1.
i) 
Axes, x from 2 to 8, y from 4 to 6.

i) 
Draw the following graphs on the same axes:
a) 
x = 1,

b) 
y = 4,








c) 
y = x  2.

ii) 
Indicate, by shading the unwanted region, the set of points satisfying:


x > 1,

 y 4,

 y  x  2.

iii) 
Use your graph to write down all integer pairs of numbers x and y satisfying the inequalities 

     
above.

2.
i) 
Axes, x from 2 to 6, y from 2 to 6.

i) 
Draw the following graphs on the same axes:
a) 
y = x,

b) 
y = 4  x.

ii) 
Indicate, by shading the unwanted region, the set of points satisfying:


x  ,

y  4  x,
 y > x.

iii) 
Use your graph to write down all integer pairs of numbers x and y satisfying the inequalities 

     
above.

3.
i) 
Axes, x from 1 to 5, y from 6 to 6.

i) 
Draw the following graphs on the same axes:
a) 
x = ,

b) 
y = 4,








c) 
y = 2x  4.

ii) 
Indicate, by shading the unwanted region, the set of points satisfying:


x < ,

0 < y 4,
 y  2x  4.

iii) 
Use your graph to write down all integer pairs of numbers x and y satisfying the inequalities 

     
above.

4.
i) 
Axes, x from 1 to 5, y from 2 to 10.

i) 
Draw the following graphs on the same axes:
a) 
x = 1,

b) 
y = 2x,

c) 
y + 2x = 8.

ii) 
Indicate, by shading the unwanted region, the set of points satisfying:


x  1,

y 2x,

 y + 2x 8.

iii) 
Use your graph to write down all integer pairs of numbers x and y satisfying the inequalities 

     
above.
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5.
On the axes below, shade the region given by 
x ( 0,   y ( 1   and   x + y ( 6.

6.
On the graph paper below, shade the region given by
x ( 0,

y ( 0,

2y + x ( 9.
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ANSWERS.  (Integer pairs, x and y, are written in co-ordinate form.)
1.
iii) (0, 2), (0,1), (0, 0), (0, 1), (0, 2), (0, 3),

                (1, 1), (1, 0), (1, 1), (1, 2), (1, 3),


      (2, 0), (2, 1), (2, 2), (2, 3),

  
      (3, 1), (3, 2), (3, 3),


      (4, 2), (4, 3),


      (5, 3).

2.
iii) (0, 1), (0, 2), (0, 3),

        
     (1, 2), (1, 3).

3.
iii) (3, 1), (3, 2),


      (4, 1), (4, 2), (4, 3). 

4.
iii) (1, 2), (1, 1), (1, 0), (1, 1), (1, 2), (1, 3), (1, 4), (1, 5),

      (1, 6), (1, 7), (1, 8), (1, 9), (1, 10),

      (0, 0), (0, 1), (0, 2), (0, 3), (0, 4), (0, 5), (0, 6), (0, 7), (0, 8),

      (1, 2), (1, 3), (1, 4), (1, 5), (1, 6),

      (2, 4).

5.

6.
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